EARAROBEEIERT — 2 N— IBISH —F

2017828148 (A) 24EIBEE2H

mﬂﬁ B6# B6 #5%—# EEE R
[A&4£] 17%:180,000 ™ ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43%&:11,000” 537 :8,000 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
EEiE: 147, —-2-2- . — ABED (BEHE)
BNl 7rs o7 s 1(4_7)4 2-2-2-1 | 39.1 1 (520) b
L:T7RILY K> B:¥rx3vFIh FEH #A
55 o DNEEEA— :47. —4-4- . — SiEEy (BHE)
oWl 4| ET7Y T X i) ¥¢53.0 (12417/2% dracdch ) 394 ! :‘; HEHERR
LG4 TATv— BT IUY— =Eivie
i i 6 | RIBEE 1:48.1 3-3-3-3 [ 39.7| — 4 13 | ITR (BHE)
3 7 F—dF—Tga2-—1 54.0 ) 0 AllELT
LY ZZXE—3IZR4— BFFUT yIN— B 77-4
. N N P FLEFRE R : 55— — BitF (BHE)
N AESZE2 X > 5| A% 1.(438).7 5-5-5-5 | 39.9 5 (4_879) ;’;#ﬁg;&
L:77NMTZT BieLIMLES A HiE
R 4 5 | LIEHLE 1:49.0 7-7-8-7 | 39.8| — 2 412 | IER (BHE)
5011 |¥~3 AHhA 54.0 (1 1/2) +3) %EEXW
74 —=TZh4 B:>ra-IE— =REABIS
e £ 5 | ALE— 1:49.2 6-6-6-6 |40.4| — 8 441 | KREHPR (BEHE)
6l8/g|¥&>F 56.0 " (2 | (B JPNEB
L:Ayav4ay B:7ROIAv 7 TS e]
N N 4 6 | SHEKX 1:49.3 1-1-1-2 |41.1| — 3 446 |TTTA (BHE)
7l5|5|F—3dF—dNVYI 54.0 (3/4) (43) | BIIEKT
R:xA1=ZGr7—R B:IX&TVyoa FLENI
= S A hBEEH : -8-7- — A — (£R)
8 0| F>TUIT H o7 e (17'?%2) 7-8-7-8 | 43.2 6 :?2) i
LRI RN BFLTAYTS FEHIS
® I —F—@EBIERL
13=zr= 5,6,7,4,3,8,(1,2)
Aol=5r= 5,6,7,4,3,8,1,2
G§a=7r= 5,6,7,4,3,8,2,1
43—+ — 6,5,7,4,3,8,1,2
[ RN
B OB 6 1609 714K 4-6 1,020H B E 4-6 7,230M &R 4-6-7 3,460
8 B 6 140/ 6-7 310 B H 6-4 9,400 JEH 6-4-7 36,030
4 630M 4-7 4,640
7 200M

ABICOVWTRDTEEERROODE. TR LIV,




